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Name: Class: Date:

Pre-Algebra: 1st Nine Weeks Test REVIEW #1

Multiple Choice
Identify the choice that best completes the statement or answers the question.

Solve the equation. Check your solution.

D 1. -0.9x=38.1

a. 1.2 c. -—1.29
b. 9 d -9
A 5 _2
2. 7 = 5c
11 13
a. l-lz c. -1 12
3 11
b. 7 d 55
l l_’ 3. 347+y=3.7
a. -0.23 c. 0.23
b. -7.17 d 094
D 4. -26.1=-0.9p
a. =27 c. -25.2
b. 23.49 d 29
D 5. x+5x=3+33
| |
a. 6 ¢. 17
b. -9 d.
A 6. 16(9—-k)+11k=194
a. -—10 c. -—14
b. 1.9 d. -67.6
A 7. 5(7-9)+17=-218
a. 6 c. -6
b. 11 d. -184
% 8. —17n+10n+66—-3n=-14
a. -8 C. —7%
b. 8 4. 122



-99 -3¢ =8¢
a. -9
b. 9
4x—1=6x+2
a. 1.5
b. -1.5
1 3

—18 — 5 n= '§ n
a. —14.4
b. 45

. 3(z-2)=T7z+4
a. -1.5
b. 1

. Ix=-Tx-128
a. 64
b. -8

Find x. Then find the perimeter of the square.

Solve the equation.

& 15. 8.5f+1=—-6f+1

a. 14.5
b. O

]
—(2x+ 6)
6(

1
C. 3
5
d- 99
c. 0.3
d 0.3
c. —-22.5
d -7.2
c. 0.7
d =25
C 14—3—
]
d. 2
_22. pogal
o3 x—36,P 533 units
d x= 1-;—;P=21 units

c. no solution
d. infinitely many solutions
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" Name:
| -

]

a. no solution c. infinitely many solutions

3
b. 8% d. 15
_Q 17. 3(-9¢-9) =93¢ +3)
a. no solution c. infinitely many solutions
b. 12 d. -12
E 18. S5t—-5-5t=1
a. 6 c. infinitely many solutions
b. no solution d -6
\3 19. 95+4d=-7.5+4d
a. infinitely many solutions c. —17
b. no solution d 17
Find the slope of the line.
( / 20. A
2
(-4, 1)
4 =x
(—43 —2) -2
4
a. 0 c. undefined
b. 1 d -1

Name the word that matches the definition given.

B 21. All of the points on a line.

a. linear equation d. rise
b. solution to a linear equation | €. run
c. slope f. y-intercept

E 22. The change in x between any two points on a line

a. linear equation d. rise
b. solution to a linear equation e. run
c. slope f. y-intercept



Name:

Find the slope of the line through the given points.

A 23. (—15 '-3)9 (—13 —8)

a. undefined c. 3
b. 0 d 5

Write the linear equation in slope-intercept form. (Solve for y.)

: t 24. —1'x+y=-15

— 8
a. J’="’l§x—15 c. x=-8y +—1§5-
b. y=-8 —-15 d. y==—-]8-x +15
O 25. —6x+y =3
1 S
a. x=y+e c. y=6x+35
b. y=-6x +5 d y=6x-5

ID: A



Name: Class: Date: ID: A

Pre-Algebra: 1st Nine Weeks Test REVIEW #2

Short Answer

Solve the equation. Check your solution.

. 04x=12)8F=D
2 4 _\\
2 2.3 =\
3. 552+y=47 |\* - %3

4, -]6.8:-—-0.8[) P :g\
s, x+rax=2+8 X =10
6. 21(4-y)+13y=116 %: -4

7. 16-6w)+12=-261 |N)= [

8. —4n+3n+43-Tn=-29 V\ :ol

9. -78-5c=8¢ (1 = —(p
10. 4x-1=6x+4 9/ = 2. S

11. —30—-;-;1:%11 = "‘50
12. 3(z=-2)=7z+1 Z = -l‘75
13. 2x =-5x—63 ’)(, - --Ol

Find x. Then find the perimeter of the square.

14, _ okl

Lo Ps (o tnits

5.5x




Name: ID: A

Solve the equation.

15. -5Sm-2=35m-2 fN= O

16. %(2x+2)=%x-—3 NO SO\“&\OV\

17. 6(—3p—3)=—3(6p+6) '\(\'p. Y‘(\O\Y\\}

18. 66-5-66=-9 NO SOluKon
19. 95-9=55-% NO Solokon

Find the slope of the line.

20. d

4
(3, 3)

2 wndeflaed

3, -1

Name the word that matches the definition given.

21. All of the points on a line. SD\\,\X‘\\ O 'k'D On \.\V\e OX -eq LLO\t-‘O(\

22. The change in x between any two pointson a line  {" D_Y"\ |

Find the slope of the line through the given points.

23 ; (_6a —7)9 (-1 y —7) D

Write the linear equation in slope-intercept form. (Solve for y.)

L - '
24, tx+y=17 W= 3 X+

3

25. —x+y=17 %:, ’x.-\'— j '



